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iy 2 kB = AT TNHE | (S HHE | MEHE | RS MHE | AR HE TR T T T T T TR TR 3 JHH) e AT TNHE | AT THHE | 2T TNIE | 12X HHIE
i 3, 347 3, 256 259 9,611 0 0 0 48 1,195 1, 069 0 0 0 137 72 4,036 220 1,326 0 0 1,835
N4 487 486 164 492 0 0 0 164 492 492 0 0 0 479 243 492 492 492 0 0 492
IR TR IE 68 69 4 84 0 0 0 0 61 19 0 0 0 4 2 69 4 53 0 0 69
() HEBE 0 0 0 0 0 0 0 0 3,371 0 0 0 0 1,301 0 3, 285 0 0 0 0 0
20 3 19 =3 1 =3 43 =3 0 0 0 0 25 %3 9 3 0 0 0 11 3 0 35 =3 3 3 10 3 0 0 13 %3
#E 3,922 3 3,830 *3 428 3 10,230 *3 0 0 0 212 5,143 3 1,589 *3 0 0 0 1,933 317 7,916 *3 719 =3 1,881 *3 0 0 2,409 3
9,133 *1 8,561 *1 1,598 14,480 *1 0 0 0 755 4,450 *1,2 4,446 *1,2 0 0 0 959 886 9,481 *1 1, 447 5,108 *1,2 0 0 6,366 *1,2
S 613 I 611 I 206 619 *1 0 0 0 206 496 1,2 619 1,2 0 0 0 556 308 491 #1 619 619 *1,2 0 0 619 *1
) 158 161 9 196 0 0 0 1 141 45 0 0 0 10 4 161 10 124 0 0 161
0 0 0 0 0 0 0 0 3,569 1,2 0 0 0 0 5,063 0 3,466 *1 0 0 0 0 0
9,903 *1 9,333 1 1,814 15,295 *1 0 0 0 962 8,657 *1,2 5,109 *L,2 0 0 0 6, 587 1,198 13,699 I 2,075 5,851 *1,2 0 0 7,145 1
Yl 44 1 43 1 2 %2 178 #1 0 0 0 0 2 11 =2 10 =2 0 0 0 1 *2 1 #2 55 1 2 2 13 1 0 0 20 1
b E 6 *l 6 *l 0 #l 7 %l 0 0 0 0 =l 5 xl 2 xl 0 0 0 0 =l 0 =l 6 *l 0 =l 5 xl 0 0 6 *l
T T 0 0 0 0 0 0 0 0 158 *1 0 0 0 0 39 *1 0 174 1 0 0 0 0 0
(N) iU kK 1 #3 1 #3 0 *3 2 0 0 0 0 3 1 %3 1 %3 0 0 0 1 3 0 3 2 3 0 3 1 %3 0 0 1 %3
7oy 7 8 #3 8 3 2 %3 13 *3 0 0 0 2 #3 T *3 T %3 0 0 0 2 %3 2 #3 13 #3 3 %3 T *3 0 0 9 3
&t 51 *3 51 *3 4 *3 186 *1 0 0 0 2 3 175 *1 17 3 0 0 0 40 *1 3 3 235 *1 5 *3 23 %3 0 0 31 %3
R 2,227 %2 2,108 *2 361 *2 4,303 *1 0 0 0 159 *2 1,041 #2 1,020 #2 0 0 0 215 *2 189 2 2,410 1 323 *2 1,182 2 0 0 1,488 2
b E 7 %1 7 %1 0 #l 9 xl 0 0 0 0 =l 6 *l 2 xl 0 0 0 0 =l 0 =l 7 #l 0 =l 6 *l 0 0 7 %1
AGHE HEBE 0 0 0 0 0 0 0 0 2,674 *1 0 0 0 0 871 1 0 3,106 *1 0 0 0 0 0
(N) HRK I 6 *3 6 _*3 1_#3 12 3 0 0 0 1o 7 %3 3 % 0 0 0 4 % 1 =3 10 #3 2 %3 3 % 0 0 4 3
7y 266 *3 266 *3 70 %3 449 *3 0 0 0 58 *3 247 %3 233 *3 0 0 0 79 3 68 3 439 %3 106 *3 257 *3 0 0 300 3
it 2,333 *3 2,223 *3 392 3 4,408 *3 0 0 0 199 3 3,683 *1 1,163 =3 0 0 0 1,064 xl 235 *3 5,524 *1 395 3 1,341 =3 0 0 1,673 =3
MR 358 #2 348 *2 29 *2 969 #1 0 0 0 5 *2 134 *2 120 *2 0 0 0 16 %2 8 2 429 *2 25 2 148 =2 0 0 202 %2
PNIDE: &= b EE 4 % 4 % 0 # 4 % 0 0 0 0 =l 3 xl 1 %1 0 0 0 0 =l 0 =l 4 =l 0 =l 3 xl 0 0 4 xl
REFE | 0 0 0 0 0 0 0 0 911 #1 0 0 0 0 296 *1 0 1,060 #1 0 0 0 0 0
(N) HERKH 2 #3 2 #3 0 *3 3 %3 0 0 0 0 #3 2 % 1 =3 0 0 0 1o 0 #3 3 % 0 #3 1 =3 0 0 1 =3
7y 104 *3 104 3 27 *3 175 *3 0 0 0 23 %3 96 3 91 3 0 0 0 31 %3 26 *3 171 =3 41 %3 100 =3 0 0 117 =3
arat 430 3 421 54 *3 1,073 =3 0 0 0 28 3 1,040 =3 198 *3 0 0 0 310 I 34 %3 1,526 3 64 3 233 3 0 0 300 *3
RS 1,891 =l 1,782 =l 331 *2 3,334 *1 0 0 0 154 *2 907 2 900 2 0 0 0 199 *2 180 *2 2,007 *1 298 *2 1,035 =2 0 0 1,287 =2
b gE 4 % 4 % 0 #l 4 1 0 0 0 0 =l 3 xl 1 %1 0 0 0 0 =l 0 =l 4 =l 0 =l 3 xl 0 0 4 *l
WA F R 0 0 0 0 0 0 0 0 1,764 #1 0 0 0 0 575 #1 0 2,047 1 0 0 0 0 0
(N) HERK S 4 3 4 #3 1 #3 9 3 0 0 0 1o 5 #3 2 # 0 0 0 3 % 1 =3 7 %3 1 =3 2 % 0 0 3 3
Ty I 162 *3 162 *3 43 %3 274 %3 0 0 0 36 *3 150 =3 142 %3 0 0 0 48 3 41 3 268 *3 65 3 157 =3 0 0 183 3
Gt 1,917 =2 1,808 =2 343 x2 3,363 *2 0 0 0 171 3 2,650 *1 965 *3 0 0 0 754 x1 201 %3 4,058 *1 331 *3 1,107 =3 0 0 1,373 =3
BRI E R MR 1,864 =2 1,810 =2 149 =2 5,173 *1 0 0 0 28 %2 682 *2 612 *2 0 0 0 79 %2 42 %2 2,238 *2 127 *2 755 2 0 0 1,038 #2
N HEBE 0 0 0 0 0 0 0 0 16,631 2 0 0 0 0 14,560 2 0 19,131 *2 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 2,833 *1 0 0 0 0 910 *1 0 3,281 1 0 0 0 0 0
% 638 1,276 0 12, 437 0 0 0 0 16, 125 319 0 0 0 5, 989 0 24, 538 0 638 0 0 1,594
Lok Wik AR 1TH% 638 1,276 0 11, 161 0 0 0 0 16, 125 319 0 0 0 5,989 0 23, 627 0 638 0 0 1,594
. (N) L% 319 319 0 4, 464 0 0 0 0 15,821 0 0 0 0 5,989 0 18, 463 0 319 0 0 319
1y Atk 0 0 0 0 0 0 0 0 15,518 0 0 0 0 5,989 0 15, 122 0 0 0 0 0
% 62, 842 63, 222 43, 813 74, 663 0 0 0 36, 788 282, 837 55, 743 0 0 0 282, 837 45, 067 282, 837 47,778 60, 169 0 0 62, 143
T XEEAR 1A% 52, 891 53, 456 37, 052 63, 073 0 0 0 31,112 240, 862 46, 951 0 0 0 239, 543 37,900 240, 807 40, 446 50, 911 0 0 52, 608
(N) L] 19,233 19, 233 13, 293 22,910 0 0 0 11,313 95, 562 16, 970 0 0 0 89, 630 13, 859 95, 317 14,708 18, 384 0 0 18, 950
1y Atk 566 566 283 566 0 0 0 283 15, 647 566 0 0 0 7, 255 283 15, 298 566 566 0 0 566
B 12,127 3 11,798 *3 142 21,564 3 0 0 0 0 15,090 3 5,126 *3 0 0 0 4, 464 0 21,924 3 0 7,338 3 0 0 9,293 3
TATTA ey LH#% 920 920 0 1,589 0 0 0 0 4, 867 418 0 0 0 1,817 0 5,322 0 586 0 0 669
eE = L[ #% 0 0 0 0 0 0 0 0 4,071 0 0 0 0 1,571 0 3, 967 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 4,071 0 0 0 0 1,571 0 3,967 0 0 0 0 0
1% 15, 905 15, 580 216 28, 889 0 0 0 0 28, 425 6, 600 0 0 0 9, 782 0 36, 360 0 9,521 0 0 12,118
i AEERHE 1 H % 14, 607 14, 282 216 26, 616 0 0 0 0 26, 572 6, 167 0 0 0 9,251 0 33, 886 0 8, 764 0 0 11, 144
(1) L% 2, 164 2, 164 0 3,895 0 0 0 0 8, 456 866 0 0 0 3,094 0 9, 356 0 1,298 0 0 1,623
1y Atk 1,082 1,082 0 1,948 0 0 0 0 6, 809 433 0 0 0 2, 563 0 7,295 0 649 0 0 866
[EXA 21,239 *3 25,478 3 1,696 *3 50, 118 =3 0 0 0 849 50, 172 7,584 3 0 0 0 50, 172 1,093 50, 172 2,014 3 9,393 3 0 0 11,576 *3
it A 2 XhEF% 104 20,735 *3 24,973 3 1,614 49, 607 3 0 0 0 849 49,661 x1 7,072 %3 0 0 0 49, 663 3 1,093 49, 662 3 2,014 3 8,881 3 0 0 11,066 *3
) L#R$%| 17,708 3 21,948 =3 1,614 46,542 3 0 0 0 849 46,595 *1 4,805 *3 0 0 0 46, 608 3 1,093 46,604 =3 2,014 3 5,814 3 0 0 8,001 *3
1y Atk 9,849 *3 10,350 3 1,614 34,792 =3 0 0 0 849 34,844 x1 4,805 *3 0 0 0 34,898 3 1,093 34,879 =3 2,014 3 5,471 *3 0 0 6,753 *3
W JEHE () 42 42 27 44 0 0 0 19 39 35 0 0 0 31 28 45 29 40 0 0 42
S - S8 Bt % (1 P7) 24 24 1 25 1 1 1 1 24 24 1 1 1 19 5 24 24 24 1 1 24
PR o () 11 29 2 37 0 0 0 1 16 13 0 0 0 2 1 33 2 17 0 0 21
WY - M R
s (65 T) 1 3 0 3 0 0 0 0 2 1 0 0 0 0 0 4 0 2 0 0 2
g () 13H 0 0 0 0 0 0 0 0 32,234 3 0 0 0 0 0 0 82, 1567 *3 0 0 0 0 0
4~TH 26, 143 3 32,506 *3 866 *3 | 159,632 *3 0 0 0 0 266, 885 3 41,725 =3 0 0 0 146, 757 _*3 2,368 3 | 330,806 *3 8,318 19,880 3 0 0 28,505 3
ATERERE SRR | R ik (7)) L3H 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9,572 0 0 0 0 0
T A~TH 8, 794 17, 805 0 127, 521 0 0 0 0 154, 837 5, 026 0 0 0 86, 360 0 248, 896 0 9,114 0 0 23, 263
TGN 8,810 *3 8,745 *3 0 20, 781 3 0 0 0 0 60, 059 =3 3,203 *3 0 0 0 48, 625 3 0 71,985 *3 0 4,076 *3 0 0 5,659 *3
s i e S i S LB A 31 31 4 80 *3 0 0 0 2 42 3 13 *3 0 0 0 15 3 64 3 6 15 3 0 0 19 3
REpERp@E (00 I HE R 7 0 0 0 0 0 0 0 0 63 0 0 0 0 46 0 66 0 0 0 0 0
— 1H% 5,865 *3 5,609 *3 901 11,556 *3 0 0 0 470 31,189 =3 2,756 *3 0 0 0 25, 652 592 37,143 3 1,168 3,205 *3 0 0 3,980 *3
00 L% 4,926 *3 4,713 3 751 10,149 3 0 0 0 391 9,494 3 2,312 3 0 0 0 5,475 531 12,851 3 973 2,709 *3 0 0 3,355 *3
B 1y Atk 2,933 3 2,805 *3 451 5,778 *3 0 0 0 235 7,092 %3 1,383 =3 0 0 0 3,321 308 8,625 *3 584 1,602 =3 0 0 1,990 #3
: — 1H% 3,910 3 3,739 *3 601 7,704 3 0 0 0 313 16,047 *3 1,837 =3 0 0 0 12, 966 394 19,548 3 778 2,136 *3 0 0 2,653 *3
OO L% 4,926 *3 4,713 *3 751 10,149 3 0 0 0 391 4,549 *3 2,298 3 0 0 0 1, 809 497 7,438 *3 973 2,709 *3 0 0 3,355 3
Ly Atk 6,843 *3 6,544 *3 1,051 13,482 *3 0 0 0 548 16,548 *3 3,227 *3 0 0 0 7,749 719 20,125 =3 1,362 3,739 3 0 0 4,643 *3
LH#% 1,132 1,082 =3 174 2,230 *3 0 0 0 91 6,018 *3 532 3 0 0 0 4, 950 114 7,167 3 225 618 *3 0 0 768 3
SEREREFE (N A% 951 *3 909 3 145 1,958 0 0 0 75 1,832 446 3 0 0 0 1,056 102 2,480 3 188 523 %3 0 0 647 3
1y Atk 566 *3 541 3 87 1,115 =3 0 0 0 45 1,368 *3 267 *3 0 0 0 641 59 1,664 *3 113 309 3 0 0 384 3
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